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Student ID No. Name
7 (] Logarithms 119F|1]1
Find each of the following values. - ) logz4+1log; 18 —3logz2 = foéy} %‘—S - foj 3 9 = 2
a) logz 9= 2
J 2
‘ NN DN 2> 3 _Z
b) log, 16 = 4} d) logy Y2 = Tlogs3 = Jog- % b2 2% =3

Z 3
C) ]Og48= QD(?V 42 = '2"

- Let p = log, 2 and g = log, 3. Express each of the fol-
d) log% 16 = ﬂof‘i’ (—;’) = -4 lowing in terms of p and g.
2 2.
a) log, 72 = IOJA 273 = ;p’f‘zg
e) log;p0.1= —|

y 0 ton 3= L2 =335
f) logo+/3 = jﬂjq (?5)2=ZF_L

3.5 = Lped
1 " 36: 23-?3 &= ’-P’” 2
g) logy V2= L ) log, V6 IOJ“ ELAE

log_/z25 = EX) =
N g /oﬂ;fg (( 7 Simplify the following using the change-of-base for-
3 mula.
I & 2

. 1 - = 1 gz/ao:.w = s

i) logye == f?,é 16 % = s a) log, T@;:Z—:V 3
Solve each of the following equations for s b) loge3 = _aﬁi 3 3 _ ,—,-

'&‘J 3 ‘i Z
a) logyx =3 =&
3
b) log9x=—g— X=9% _ g% c) logz2-log,27 = ,ao 32 __!%}Z - 2
logs 2
log x = 2 1
° ogz e x= T+ (6] Simplify the following.
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a) —%—logs 3 + 3logs /2 — logs +/24 = ﬂejs 5;: 22;,
d) log,27=3 5(3=Z7 > ;{:3
L l}c‘?g / = O

Simplify the following.

a) logyd+log8= 21+ = = % b) (log, 3 + log, 9)(logs 4 + logg 2) =

_ {fogzg + ﬂozzq ) ( ﬂogg% N [oz,_z)
\ 2 ~ g"qu ‘005 23 j")zq
B) logs 2 —log; 18 = on37§ = =2 = 2 fog, 3% (_4- /
/> 4’0/;3 t 2&;13)

=2x(2+4) =%



